[[normalized x? probability ]

Entries
Mean
Std Dev.

r = [Entries
Mean
Std Dev

Tt . o Sttt H f 1
10 12 14 16 18 20 %% 0.10.20.3 0.4 0506 0.7 0.8 09 1
X2 Prob(x?)

DQM_CRF-test_TO00&vT
= DQM_mKFitREFit-test_1000evt
m— DQM_MKFitREFit-OR-fest_1000evt
s DQM_MKFitREFit-ORK-test_1000evt
e DOM_mKFitREFit-OR4-test 1000evt

ul
T

3

< X2/ndf>
T

< op./p.> (%)

Ratio
Ratio
T

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)

< Xx2/ndf>
< x2/ndf>

Ratio
Ratio

T

o

< op/p, > (%)

TR WS Lo o

um

107 1 10




	Contents
	Page 1


